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Chemistry 3331001 3™ Hour Exam
Tl 18 Carbony! Chernsny 2

Cho 18 Carboxells Acicls

Che 20 Crifagales Avied Darivimreey

Thursday: Now, 19, 1998 in Ramaley C230 Dir. Barney Ellison

Mume: b“

1 {20 points] Provide sieple synthelic roules from cyclobexanone to the following:
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2. (10 points) Treatment of ketone 1 with LDA in dimethyliormamide (TMF) solvent,
followed by CH.I addition Jeads to two methylated ketones. Show o mechanism for the
reaction that explains why one praduct is lavored over the ather.
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3. (10 points} Write a mechanism tor the [ollowing reaction
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4. (20 points) What are the major vrganic produets ol the following reactions?
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5. (10 points) What i3 the mechanism for lactem lormation?
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6. (20 points) Provide simple synthetic routes Lo prepare the targets [rom the indicated
starting maierials,
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Mt is the mechunism for the fallowing reaction”
F010 peinls) What is the mechunism for the follewing
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